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T (7) No. 0 + 84.818 1 T
T (8) No. 0 + 96. 789 1 T
HET.(9) P, 11 (No. 0 + 107.601 ) 1 f&pr
BT (10) No. 0 +  120.756 1 &7
BT (11) No. 0 +  145.308 1 T
P (12) No. 0 + 191.869 1 &7
P (13) No. 0 +  208.369 1 &7
P (14) No. 0 + 216.978 1 &7
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B %% & § H &

10. 0m¥4 1
g 7507 a—2A B400X H400 1
R at A = HAL| B =
TTLYTY e MR W=288kg/{E L=2000 m 10.0
(B400 X H400 T %)
5T Y a—h 10.0+2.0 = 5.0 | & 5.0
(B400 X H400 T %)
P S ] 0.58x0.10X10.0 = 0.580 | m® 0.58

(RC-40)
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B %% & § H &

10. 0m¥4 1
& 7507 a—A B400X H400 THI (V4 v M)
R at A = HAL| B =
TTLYTY e MR W=313kg/{& L=2000 m 10.0
(B400 X H400 I &Y)
75 YT a—h 10.0+2.0 = 5.0 | & 5.0
(B400 X H400 I %)
P S ] 0.58x0.10X10.0 = 0.580 | m® 0.58

(RC-40)
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HOfr % B O B O#F

140
il H A BA I (1)
4 PR s " = HAL| 2% &
] R A0 R s A =2000 W=1000kg/fHLL T
L =6. 000 = 6.000 | m 6.0
L=2000 W=1000% i 2.2000kg/{ELL T
L =1.000 = 1.000 | m 1.0
H A Bo R
400 X 600 X 2000 FEWTAH  1L=2000 W=942kg/2m = 3 A 3
400X 600 X 1000 FEWTIRFIE R 1L=1000 W=1, 048kg/2m = 1 1 1
JEE By ) -}
(18-8-25BB) 1/2% (0. 11140. 084) X 0. 400X 2. 000 = 0.078
1/2 % (0. 084+0. 093) X 0. 400X 2.000 = 0.071
1/2% (0. 093+0. 129) X 0. 400X 3. 000 = 0.133
&5 = 0.282 | m® 0.28
Hpk=a 7 J—k
(18-8-25BB) 0.73X0.10X7.000 = 0.511
&5 = 0.511 | m® 0.51
] s
0.10X2X7.000 = 1.400 | m? 1. 40
P S
(RC-40) 0.83X0. 10X 7. 000 = 0.581
&5 = 0.581 | m® 0.58
TL—F % L=1,000 W=40kg/Ki#8 2 170kg/FLLF i@ H
(B400H) = 3| & 3

W=44. 1kg
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4 L. M2
B AL i
40
il H H A B (2)
£ PR 7t " BT 5
E H A BRI A [=2000 W=1000kg/fELL T
L. =4. 000 4.000 | m 4.0
H A Be
400X 600 X 2000 WA 1L=2000 W=942kg/2m 2 | 2
E vy - )
(18-8-25BB) 1/2% (0. 12940. 137) X 0. 400X 2. 000 = 0.106
1/2 X (0. 137+0. 205) X 0. 400X 2. 000 0. 137
0.243 | m® 0.24
a7 ) — K
(18-8-25BB) 0.73X0.10X4. 000 0.292
0.292 | m® 0.29
il s
0. 10X 2X4. 000 0.800 | m? 0. 80
P S ]
(RC-40) 0.83X0.10X4. 000 0.332
0.332 | m® 0.33
TVL—F T L=1, 000 W=40kg/¥#8 2 170kg/#LL T i@ H
(B400H) 2 | # 2

W=44. 1kg
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NN 2 A N N A E %
H O, & &= 7 =+
140
il H A A BAHIE (3)
4 N s " = BHAL| & &=
1 £ 4 P R A L=2000 W=1000kg/{ELLTF
L. =4. 000 = 4.000 | m 4.0
H A B
400X 500 X 2000 N 1,=2000 W=532kg/{H = 2| M@ 2
JEE Ry ) ) -}
(18*8*25BB) 1/2% (0. 105+0. 150) X 0. 400X 4. 000 = 0. 204
&5 = 0.204 | m® 0. 20
Hpga 7 ) — K
(18-8-25BB) 0.62x0. 10X4. 000 = 0. 248
&5t 0.248 | m® 0.25
g} s
0.10X2X4. 000 = 0.800 | m? 0. 80
2 S 7 )
(RC-40) 0.72X0. 10X 4. 000 = 0. 288
aat 0.288 | m® 0.29
avy ) — & L=500 W=40kg/Hc#d % 170kg/F LA
(B400 HijE ) = 4| K 4

W=60. Okg
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H O, % & F H &
LOf&E ATV
fil w1 (it )
g it B B2V HAL| %% =#
a7 U —k 1. 000X 0. 700X 0. 700X 10 4. 900
(18-8-25BB) 0. 100X 0. 080X 0. 550 X 10 = 0. 044
0. 050 X 0. 080 X 0. 550 X 10 = 0. 022
A 0.700X0.400X0.550X 10 = Ao 1.540
A 0.540X0. 450X 0. 150 X 10 = Ao 0.365
A 0.310X0.275X0. 150 X 10 = a 0.128
A 0.240X0.400X0. 150X 10 = A 0.144
/N = 2.789
fRIBEE [H
0. 100X 0. 200X 0. 400 X 10 0. 080
H = 2.869 | m® 2.87
o P (1. 00040. 700) X 2X0. 700X 10 23. 800
(0. 7004-0. 400) X2X0.700X10 = 15.400
(0.31040. 275) X2X0.150X10 = 1.755
(0.24040.400X2) X0.150X 10 = 1. 560
A 0.540X0. 450 X 2X 10 = Ao 4.860
A 0.310X0.275X2X 10 = A 1.705
A 0.240X0. 400X 2X 10 = a4 1.920
NEF = 34.030
IBELE 1H
0. 200X 0. 400X 2X 10 1. 600
i = 35.630 | m? 35. 63
E - ] 1. 100X 0. 800X 0. 150X 10 = 1.320 | m® 1.32
(RC-40t=150)
i 2 0. 300X 0. 024 X 0. 400X 10 = 0. 029
(A 4R t=24mm) 0. 370X0. 024 X0. 275X 10 = 0. 024
it = 0.053 | m?® 0. 053
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B2 B &

iom

10F4 7124 b
i Bt T (2 (GyakitT)
£ R 7t " = HAL| % =
a7 U—k 0. 800X 0. 850X 0. 700X 10 = 4. 760
(18-8-25BB) A 0.500X0.550%X0.550X10 = Ao 1.513
A 0.540X0.450X0. 150X 10 = Ao 0.365
A 0.540X0.450X0. 150X 10 = Ao 0.365
A 7/4X0.202%X0.202X0.150X10 = a 0.048
3 = 2.469 | m°® 2.47
v} e (0. 800+0.850) X2X0.700X10 =  23.100
(0. 500+0.550) X2X0.700X10 = 14. 700
A (0.540%0.450%X 2% 10 = Ao 4.860
A (0.540%0.450%X2X% 10 = Ao 4.860
A 7/4X0.202X0.202X2X10 = Ao 0.641
3 = 27.439 | m? 27. 44
P i I V) 0. 900X 0. 950X 0. 150X 10 = 1.283 | m® 1.28
(RC-40t=150)
K 43 K ¥ = 10 | & 10
(el ¢ 150)
oo — A 0.85X%X10 = 8.50 | m 8.5
(¢ 150)
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B2 B &

iom

10F4 7124 b
i BT (3) (GyakitT)
£ R 7t " = HAL| % =
a7 U—k 0. 800X 0. 850X 0. 700X 10 = 4. 760
(18-8-25BB) A 0.500X0.550%X0.550X10 = Ao 1.513
A 0.540X0.450X0. 150X 10 = Ao 0.365
A 0.540X0.450X0. 150X 10 = Ao 0.365
A 7/4X0.202%X0.202X0.150X10 = a 0.048
3 = 2.469 | m°® 2.47
v} e (0. 800+0.850) X2X0.700X10 =  23.100
(0. 500+0.550) X2X0.700X10 = 14. 700
A (0.540%0.450%X 2% 10 = Ao 4.860
A (0.540%0.450%X2X% 10 = Ao 4.860
A 7/4X0.202X0.202X2X10 = Ao 0.641
3 = 27.439 | m? 27. 44
P i I V) 0. 900X 0. 950X 0. 150X 10 = 1.283 | m® 1.28
(RC-40t=150)
K 43 K ¥ = 10 | & 10
(el ¢ 150)
oo — A 0.77X10 = 7.70 | m 7.7
(¢ 150)
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NN /2 A N NA E % ﬁ‘k‘
H O &% & i B O FE
10F4 7124 b
i B (4) (AL
£ R it " = HAL| % =
a7 U—k 0.800%1.300X1.050X 10 10. 920
(18-8-25BB) A 0.500X1.000X0.900X10 A 4.500
A 0.402X0.400X0. 150X 10 A 0.241
A 0.400X0.400X0. 150X 10 A 0.240
A 0.460X0.375X0. 150X 10 A 0.259
3 5.680 | m® 5. 68
v} e (0. 800+ 1. 300) X2X1. 050X 10 44. 100
(0. 500+ 1. 000) X2X1. 050X 10 31. 500
(0. 402+0. 400) X2X0. 150X 10 2. 406
(0. 400+0. 400) X2X0. 150X 10 2. 400
A 0.402X0.400%X2X%X10 A 3.216
A 0.400X0.400%X2X%X10 A 3.200
A 0.460X0.375%X2X%X10 A 3.450
= 70.540 | m? 70. 54
P i B V) 0.900X 1. 400X 0. 150X 10 1.890 | m® 1.89
(RC-40t=150)
AR 25 (1)
(700X 600 t=6.0) 280 10 | # 10
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N /2 Al N A A =, % A
H i & & F B #
10’“@’“@% ]
i #E T (5)  (Hpit 1)
4 PR At " Y HAL | % &
a7 Y —h 0. 900X 0. 900X 1. 000X 10 8. 100
(18-8-25BB) 0.075X0. 130X 0. 850 X 2X 10 = 0. 166
A 0.600X0.600X%0.850X%10 = Ao 3.060
A 0.400X0.400X%0. 150X 10 = a 0.240
A 0.450X0.350X0. 150X 10 = A 0.236
A 0.400X0.400X%0. 150X 10 = a 0.240
2 = 4.490 | m° 4. 49
vl P (0.900+0.900) X2X1.000X10 =  36.000
(0. 600+0.600) X2X1.000X10 = 24.000
(0. 400+0.400) X2X0. 150X 10 = 2. 400
(0. 450+0. 350) X2X0. 150X 10 = 2. 400
(0. 400+0.400) X2X0. 150X 10 = 2. 400
A 0.400X0.400X2X10 = A& 3.200
A 0.450X0.350X2X10 = A& 3.150
A 0.400X0.400X2X10 = a 3.200
2 = 57.650 | m? 57.65
P S 1. 000X 1. 000X 0. 150X 10 = 1.500 | m® 1. 50
(RC-40t=150)
TR 2 (2)
(800X 400 t=6.0) KR = 10 | #H 10
R /7 0.510X0.024%0.290X 10 = 0.035 | m® 0. 035
(B2 HX t=24mm)
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NN /2 A N NA E % ﬁ‘k‘
H O &% & i B O FE
10F4 7124 b
i BT (6) (et
£ R 7t " = HAL| % =
a7 U—k 0. 900X 0. 900X 0. 900X 10 = 7.290
(18-8-25BB) A 0.600X0.600X0.750X10 = Ao 2.700
A 0.400X0.400X0. 150X 10 = Ao 0.240
A 0.400X0.400X0. 150X 10 = Ao 0.240
2t = 4.110 | m® 4. 11
v} e (0.900-+0.900) X2X0.900X10 =  32.400
(0. 600+0.600) X2X0.900X10 =  21.600
(0. 400+0. 400) X2X0. 150X 10 = 2.400
(0. 400+0. 400) X2X0. 150X 10 = 2.400
A 0.400X0.400%X2X%X10 = Ao 3.200
A 0.400X0.400%X2X%10 = Ao 3.200
3 = 52.400 | m? 52. 40
P i I V) 1. 000X 1. 000X 0. 150X 10 = 1.500 | m® 1. 50
(RC-40t=150)
TL—F T T-14 WH WVI7¥%F
(Ft25600 X 600 ) REMDS5T66FH Y i See3tW=52. 8kg/#l = 10 | #H 10
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N /2 A N A /A =. % Y
H O &% & i B O FE
10F4 7124 b
i BT (7)) (GyakitT)
4 R it " = HAL| % =
a7 U—k 0. 800X 0. 850X 0. 700X 10 = 4. 760
(18-8-25BB) A 0.500X0.550%X0.550X10 = Ao 1.513
A 0.540X0.450X0. 150X 10 = Ao 0.365
A 0.540X0.450X0. 150X 10 = Ao 0.365
A 7/4X0.202%X0.202X0.150X10 = a 0.048
#H = 2.469 | m® 2. 47
v} e (0. 800+0.850) X2X0.700X10 =  23.100
(0. 500+0.550) X2X0.700X10 = 14. 700
A (0.540%0.450%X 2% 10 = Ao 4.860
A (0.540%0.450%X2X% 10 = Ao 4.860
A 7/4X0.202X0.202X2X10 = Ao 0.641
H = 27.439 | m? 27. 44
P i I V) 0. 900X 0. 950X 0. 150X 10 = 1.283 | m® 1.28
(RC-40t=150)
K 43 K ¥ = 10 | & 10
(el ¢ 150)
oY W LT 7 X0.202X 10 = 6.346 | m 6.3
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N /2 A N A /A =. % Y
H O &% & i B O FE
10F4 7124 b
i Bt T (8)  (GyakitT)
4 R it " = HAL| % =
a7 U—k 0. 800X 0. 850X 0. 700X 10 = 4. 760
(18-8-25BB) A 0.500X0.550%X0.550X10 = Ao 1.513
A 0.540X0.450X0. 150X 10 = Ao 0.365
A 0.540X0.450X0. 150X 10 = Ao 0.365
A 7/4X0.202%X0.202X0.150X10 = a 0.048
#H = 2.469 | m® 2. 47
v} e (0. 800+0.850) X2X0.700X10 =  23.100
(0. 500+0.550) X2X0.700X10 = 14. 700
A (0.540%0.450%X 2% 10 = Ao 4.860
A (0.540%0.450%X2X% 10 = Ao 4.860
A 7/4X0.202X0.202X2X10 = Ao 0.641
H = 27.439 | m? 27. 44
P i I V) 0. 900X 0. 950X 0. 150X 10 = 1.283 | m® 1.28
(RC-40t=150)
K 43 K ¥ = 10 | & 10
(el ¢ 150)
oY W LT 7 X0.202X 10 = 6.346 | m 6.3
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N /2 A N A /A =. % Y
H O &% & i B O FE
10F4 7124 b
i B (9) (AL
£ R it " = HAL| % =
a7 U—k 0. 850X 0. 950X 0. 700X 10 5. 653
(18-8-25BB) A 0.550X0.650X0.550X10 A 1.966
A 0.540X0.450X0. 150X 10 A 0.365
A 0.604X0.450X0. 150X 10 A 0.408
A 0.349X0.309X0. 150X 10 A 0.162
3 2.752 | m*® 2.75
v} e (0. 850+0. 950) X2X0. 700X 10 25. 200
(0. 550+0. 650) X2X0. 700X 10 16. 800
A (0.540%0.450%X 2% 10 A 4,860
A 0.604%0.450X2%10 A 5,436
A 0.349X0.309%X2X%X10 A 2157
0. 099X 0. 159X 2X 10 0.315
3 29.862 | m? 29. 86
P i I V) 0.950X 1. 050X 0. 150X 10 1.496 | m® 1. 50

(RC-40t=150)
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NN /2 A N NA E % ﬁ‘k‘
H O &% & i B O FE
10F4 7124 b
i w0 (10) (G /K#EL)
£ R s " =y HAL| % =
a7 U—k 0. 800X 0. 850X 0. 800X 10 5. 440
(18-8-25BB) A 0.500X0.550X0.650X10 A 1.788
A 0.540X0.450X0. 150X 10 A 0.365
A 0.540X0.450X0. 150X 10 A 0.365
A 7/4X0.202%0.202%0.150X10 A 0.048
3t 2.874 | m*® 2.87
v} e (0. 800+0. 850) X 2X0. 800X 10 26. 400
(0. 500+0. 550) X 2X0. 800X 10 16. 800
A (0.540%0.450%X 2% 10 A 4,860
A (0.540%0.450%X2X% 10 A 4,860
A 7/4X0.202X0.202X2X10 A (.641
3 32.839 | m? 32. 84
P i I V) 0. 900X 0. 950X 0. 150X 10 1.283 | m® 1.28
(RC-40t=150)
A oK 4y K ke 10 | f& 10
(el ¢ 150)
M B K E 0.10X 10 1.00 | m 1.0
(¢ 150)
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10F4 7124 b
i kT (11 (Gy/k#EL)
£ R s " =y HAL| % =
a7 U—k 0. 800X 0. 850X 0. 850X 10 = 5. 780
(18-8-25BB) A 0.500X0.550X0.700X10 = Ao 1.925
A 0.540X0.450X0. 150X 10 = Ao 0.365
A 0.540X0.450X0. 150X 10 = Ao 0.365
A 7/4X0.202%X0.202X0.150X10 = a 0.048
3 = 3.077 | m*® 3.08
v} e (0. 800+0.850) X2X0.850X10 =  28.050
(0. 500+0.550) X2X0.850X10 = 17. 850
A (0.540%0.450%X 2% 10 = Ao 4.860
A (0.540%0.450%X2X% 10 = Ao 4.860
A 7/4X0.202X0.202X2X10 = Ao 0.641
3 = 35.539 | m? 35. 54
P i I V) 0. 900X 0. 950X 0. 150X 10 = 1.283 | m® 1.28
(RC-40t=150)
K 43 K ¥ = 10 | & 10
(el ¢ 150)
M B K E 0.05%X10 = 0.50 | m 0.5
(¢ 150)
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N /2 A N A /A =. % Y
H O &% & i B O FE
10F4 7124 b
i T (12) (G /K#L)
£ R it " =y HAL| % =
a7 U—k 0. 800X 0. 850X 0. 700X 10 4. 760
(18-8-25BB) A 0.500X0.550%X0.550X10 A 1.513
A 0.540X0.450X0. 150X 10 A 0.365
A 0.540X0.450X0. 150X 10 A 0.365
A 7/4X0.202%0.202%0.150X10 A 0.048
3t 2.469 | m°® 2.47
v} e (0. 800+0. 850) X 2X0. 700X 10 23. 100
(0. 500+0. 550) X 2X0. 700X 10 14. 700
A (0.540%0.450%X 2% 10 A 4,860
A (0.540%0.450%X2X% 10 A 4,860
A 7/4X0.202X0.202X2X10 A (.641
3 27.439 | m? 27. 44
P i I V) 0. 900X 0. 950X 0. 150X 10 1.283 | m® 1.28
(RC-40t=150)
A oK 4y K ke 10 | f& 10
(el ¢ 150)
oY W LT 7 X0.202X 10 6.346 | m 6.3
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10F4 7124 b
i w0 (13) (G /k#EL)
£ R s " =y HAL| % =
a7 U—k 0. 800X 0. 850X 0. 700X 10 4. 760
(18-8-25BB) A 0.500X0.550%X0.550X10 A 1.513
A 0.540X0.450X0. 150X 10 A 0.365
A 0.540X0.450X0. 150X 10 A 0.365
A 7/4X0.202%0.202%0.150X10 A 0.048
3t 2.469 | m°® 2.47
v} e (0. 800+0. 850) X 2X0. 700X 10 23. 100
(0. 500+0. 550) X 2X0. 700X 10 14. 700
A (0.540%0.450%X 2% 10 A 4,860
A (0.540%0.450%X2X% 10 A 4,860
A 7/4X0.202X0.202X2X10 A (.641
3 27.439 | m? 27. 44
P i I V) 0. 900X 0. 950X 0. 150X 10 1.283 | m® 1.28
(RC-40t=150)
A oK 4y K ke 10 | f& 10
(el ¢ 150)
oo — A 5.30X 10 53.00 | m 53.0
(¢ 150)
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i T (14) (st L)
£ R it " =y HAL| % =
a7 U—k 0. 900X 0. 900X 0. 700X 10 = 5.670
(18-8-25BB) A 0.600X0.600X0.550X10 = 4o 1.980
A 0.540X0.450X0. 150X 10 = Ao 0.365
A 0.440X0.383X0. 150X 10 = Ao (.253
A 0.391X0.173X0. 150X 10 = a 0.101
#H = 2.971 | m® 2.97
v} e (0.900-+0.900) X2X0.700X10 =  25.200
(0. 600+0.600) X2X0.700X10 = 16. 800
A (0.540%0.450%X 2% 10 = Ao 4.860
A 0.440%0.383%X2X%X10 = A 3.370
A 0.391X0.173X2X%X10 = Ao 1.353
0.103X0. 150X 2X 10 = 0. 309
H = 32.726 | m? 32. 73
P i I V) 1. 000X 1. 000X 0. 150X 10 = 1.500 | m® 1. 50

(RC-40t=150)
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NN/ N A A =. é Y
B A ¥ & Et =+
104H%4 Y
i a8 M FEH ) (T00X600X28%)
£ R &t 1 = HAL| # &
WO i 0. 700X 0. 600X 48. T7Tkg/m X2X10 =  409.668 | kg 410
(t =6. Omm)
E VNI 0. 495 X 2 X 3. 06kg/m>X 2 X 10 = 60. 588
(50 X 50X 4) 0. 390 X 2% 3. 06kg/mX 2 X 10 = 47.736
= 108.324 | kg 108
T BT B 0. 350 0. 499kg/mX 2 X2 X 10 = 6.986 | kg 7
(®9mm)
% e 409. 668+ 108. 324 +6. 986 = 524.978 | kg 525

JIS H8641-2F& HDZ50f1:#¥
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NN/ N A A =. é Y
B A ¥ & Et =+
104H%4 Y
i a8 M (2 (800X400X28%)
£ R &t 1 = HAL| # &
WO i 0.800X0. 400 X 48, T7Tkg/m X2X10 =  312.128 | kg 312
(t =6. Omm)
E VNI 0. 490 X 2 X 3. 06kg/m>X 2 X 10 = 59.976
(50 X 50X 4) 0. 295X 2% 3. 06kg/mX2X 10 = 36. 108
#H = 96.084 | kg 96
T BT B 0. 350X 0. 499kg/mX 2 X2 X 10 = 6.986 | kg 7
(®9mm)
% e 312. 128-+96. 084 +6. 986 = 415.198 | kg 415

JIS H8641-2F& HDZ50f1:#¥
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10m34 Y
il =/ N

4 N i " = HAL | B B
a7 ) —k 0. 100X 0. 085X 10. 0 = 0. 085
(18-8-25BB) 0.100X0. 035X 10. 0 = 0. 035
1/2% (0. 100+0. 135) X 0. 015X 10.0 0.018
1/2% (0. 13540. 145) X 0. 365X 10.0 0.511
1/2X (0. 145+0. 180) X 0. 035X 10.0 = 0. 057
0. 180X 0. 030X 10.0 = 0. 054

H = 0.760 | m? 0.76

i} s (0. 565+0. 085) X 10 = 6.500 | m? 6. 50
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i JNOEET.
£ R B A =y HAL| % =
a7 J—k 0.250X0. 175X 0. 150X 10 = 0.066 | m® 0. 07
(18-8-25BB)
il gt 0.250X0.175X2X 10 = 0.875 | m? 0. 88
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NN /2 A N NA E % ﬁ‘k‘
H i % & i B #
10824 v
i JEPTES L (1)
£ R B " =y HAL| % =
a7 U—F 1/2X (0. 075+0. 260) X0. 198X 2X 10 = 0. 663
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(0.011-+0.076) X0.400X2X10 = 0. 696
it = 7.824 m2 7. 82

,61,




W% T fRab
140
, L 5% =
& ! i il j57) & ==¥va
)| VAN
TA7 7 e T
(HEHD)
Eg @:% I *ﬁ?)ﬁﬁzﬁ*a 2 74
M-30 t=15cm m
ER & T FAEBRIET A 2 ) 1
1. AmAis m

(13) t=3cm




m]
% R &t = AL % =
TAT 7V ML T
( H E #)
[M 30 t= 15CJ A=1.0+16.6+49.9+3.34+2.7 73.5 | m? 74
13) t=3cm A=1.0+16.6+49.9+3.3+2.7 73.5 | m? 74
L4AmA i

,63,



HEMiE T EEK

1%y
#5 =
@ Bl | Bl o | i —
Sl VAN

EREYEUE L T

27 U — b pone S 3

wROGE M oA H Bipar 7 ) —1h m® 8

. _ " t=10cm

27 U — MYIWE BF250 ] m 0.6

Ak o o 7177/1/}‘ 92

A2 R Ak A T =150mll F m 100

wROGE M oA H TAT 7Lk m® 3

e " TATZ 7V K

B %< RCO) T L S 1Bembl T m 190

By & B E VP ¢ 100 m 6

T 45 3 A O [=] 1

E‘gfﬁﬁ%’% VP ¢ 100 m® 0.1
E¥LT

+w 3
o il W=1mPL | omAi m 0
— RC-40

i— 3

i o N m 6

o+ A #H m® 6




= ==y =N
=] =
4 8 7 i E2V BAL| B &
S uE L L
a7 JY—h
HEME Y L NF 7Y 22— 4300
(EEAHEED) V =1. 488 . 488
R F 7Y 22— 15250
V =3.674 . 674
Ry F 7Y 22— ALB0X250
V =0. 837 . 837
RoF 7Y 22— L2E300H
V =0. 504 . 504
(1)
V =0. 412 412
T (2)
V =0.109 . 109
T (3)
V =0. 588 . 588
T (4)
V =0. 133 . 133
b oo— A5 ¢ 150
V =0.007 . 007
it = . 752 m® 8
X S AL PR
CHEPZAREN! V =7.752 . 752 m® 8
a7 Y — Ll IP. 13fF3EBF250
(t=10cm) L=0.6 0.6 m 0.6

,65,




= Vovar

B
4 R = H = BN B =
AR RREEE L
(t=10cmLL F) t=3cm
A=100.4 100. 4 m? 100
TR AL B
(TAZ7 V) t=3cm
A =100.4X0.03 3.0 m? 3
A AL RR U118
(t=15cmLL F) t=3cm
L=3.2+7.0+3.5+146.7
+3.0+3.04+10.24+9.4 186.0 m 190
HeERE
(VP ¢ 100) L =6.4 6.4 m 6
BRSG7E AE hE N=1 1 [] 1
P75 AF v 7 JLL VP ¢ 100
(VP ¢ 100) V =6.4X%X0.01 0.1 m? 0.1

,66,




B
£ R = H BN B =
B2+ T
7R i
+Hb Ry F 71 2— ABOX (250)
=1mPL b 2mA V=6.11 6.11 m? 6
HE =
RC-40 R F 71 2 — ABOX (250)
SN V =6. 02 6. 02 m® 6
£ ¥ %k +
V=6.11 6.11 m? 6

,67,




g & 5t /&

£ | R_oF7 Y 2—2A4300
il Jy
JiIR 3= L = 48.0m
B = V = 1.488 p°
it L= 48.0 48.0 m
40|, 300 |40
‘ ‘ A= 0.380X%0.240
‘\ “ g s —0. 300X 0. 200 0.031
g
V= 0. 031 X 48.0 1.488
£ | R_oFT7 Y 22— 20250
il
ik 3= L = 141.3m
by = V = 3.674 g’
330
L= 141.3 141.3 m
40 [, 250 |40
‘ ’ A= 0.330X%0.210
\\ ” R 2 —0.250%0. 175 0.026
V= 0. 026 X 141. 3 3.674 n’

,68,




g & 5t /&

£ | XoF 7 U 22— LBOX250
il =y
AE K L = 9.4m
5 &= V = 0.837 p’
400
75| . 250 |, |75 L= 9.4 9.4 m
] e
A= 0.400X0. 340
l ] S g —0.250%0. 190 0.089 n’
L0 V= 0. 089 X 9.4 0.837 n’
£ | _RoF 7Y 2— 2300/
il
S = N = 14. 08
By = V = 0.504 p°
380
ﬁ N= 14 14 K
| |__ &l A= 0.380%0.095X 1. 00
0.036 n’
V= 0. 036 X 14 0.504

,69,




g & 5t /&

4 N
H =y
HiE s
g =% 0.412
660
500
N= 4 = 4 fEPT
A= 0.66X0.61X0.48
—0.50X0. 45X 0. 40 = 0.103 p°
660
500 V= 0.103 X 4 = 0.412 p°
4 N
H
Sk s
Py & o
710
550
N= 1 = 1 f&pT
A= 0.71X0.61X0.48
—0.55X%0. 45X 0. 40 = 0.109 p°
710
0 V= 0.109 X 1 = 0.109 p

400
480

,70,




g & 5t /&

£ o[ BT (3)
il Jy
SiE B | N = 6T
B = V = 0.588 p°
610
80 450 80
N= 6 6 fE AT
A= 0.61X0.61X0.48
= —0. 45 X0. 45X 0. 40 0.098 n°
610
20 = 180 V= 0. 098 X 0.588 n’
5 8
£ ol BT (4)
il
L 3= N = 1f§7r
by = VvV = 0.133
760
_80 ] 600 80
N=d L &
A= 0.76X0.76X0. 48
—0. 60X0.60X0. 40 0.133
3
760 . 3
80| 600 (80 V= 0.133 X 0.133 m
g g

,71,




g & 5t /&

£ R b oo — A% ¢ 150
il J=i
JiIR 3= L = 0.52m
B = vV = 0.007 p°
202
L= 0.52 0.52 m
26 |, 150 | 26
[
A= 7/4X0.202X0.202
— F— — 7/4%0.150X0. 150 0.014 p?
I
V= 0.014 X 0.52 0.007 n’
£ PR
il );
L 3=
g =%

,72,




H E Y e R

%“E“
T

T =y L B
P o ¥ = g 2
H =
_RyF 7Y a—nA | No. 0 No. 0 + 18.0 18.2 m
(B300 X H200) No. 0 + 18.5 | No. 0 + 37.5 19.2 m
No. 0 + 38.0 | No. 0 + 48. 8 10.6 m
& F 48.0 m
_RyF 7Y a—nA | No. 0 + 62.3 | No. 0 + 84.5 22.3 m
(B250 X H175) No. 0 + 85.0 | No. 0 + 96.5 1.5 m
No. 0 + 97.0 | No. 0 + 107.0 10.0 m
No. 0 + 117.6 | No. 0 + 120.5 3.0 m
No. 0 + 121.0 | No. 0 + 145.0 24.1 m
No. 0 + 145.5 | No. 0 + 160.0 14.7 m
No. 0 + 160.5 | No. 0 + 191.6 31.5 m
No. 0 + 192.1 | No. 0 + 208. 1 16.1 m
No. 0 + 208.6 | No. 0 + 216.7 8.1m
& F 141.3 m
NRUF 7Y 2— KBOX No. 0 + 49.5 | No. 0 + 62.3 9.4 m
(B250 X H190)

a ) — b E No. 0 No. 0 + 4.0 4 %
BF300 No. 0 + 26.5 | No. 0 + 30.5 4 %
No. 0 + 42.8 | No. 0 + 48. 8 6 K
& @ 14 ¥




S —;‘
¥ & B o B E
il R o L
4 i 0 B B
H =
BT

BT (1) No. 0 + 18.3 1 AT
No. 0 + 37.8 &1
No. 0 + 84. 8 1 AT
No. 0 + 96. 8 (5560
A& F & AT
BT (2) TP. 7 (No. 0 + 49.5 ) &0
T (3) IP. 11 No. 0 + 107.6 ) (5550
No. 0 + 120. 8 1% AT
No. 0 + 145.3 & AT
No. 0 + 160. 3 1% AT
No. 0 + 191.9 (&0
No. 0 + 208. 4 1% AT
& F (550
Wi (4) No. 0 + 217.0 1% AT

,74,




S —;‘
¥ & B o B E
il Jsy o -
P i 0 B 5 =
H =
b o=— A5 ¢ 150
BT (7) No. 0 + 84. 8 0.24 m
HT (8) No. 0 + 96. 8 0.16 m
BT (12) No. 0 + 191.9 0.12 m
& F 0.52 m
HEEVP 10} L ES
No. 0 + 18.3 0.6 m
No. 0 + 37.8 0.8 m
No. 0 + 208. 4 5.0 m
& % 6.4 m

,75,




RyF 71 2— ABOX(250) +TEHEE

____Jl. ___________________ _I.__

B =g
- Y o
| |
| I ﬁ‘
- UJ] ) EF

7 1 a=0.65m2
#ER (RC-40) a=0. 64m2

L = 9.4
W ¥ (E) (W=1.0mbL 2. 0om i)
0.65 X 9.4
= 6.11 m®
R (RC-40) (e KHE NS ImASTi#)
0.64 X 9.4
= 6.02 m®

,76,




B A fiER T EEFR

14D
e =8
it wlo | s I ¥ | Az -
)| % B
Mk 1
=, HIFER 2000 X 300 X 40
it AR B% B L SUBE & 100 X 1000 m 154
Eoo s ) — k 18-8-25BB n? 9

t=10cm




] .
4 PR H B = HAL | % &
iR L
A 5 1 T
[L=154.0 154. 0 m 154
E=ar 27 U—F
(18-8-25BB  t=10cm) A=2.0 2.0 | m? 2

,78,




HONL

==X 5] =
10m34 Y
i T R S - R

£ R i " =y HAL| % =
i R 10. 0=2. 000 5.000 | H 5
(2000 X 300 X 40)
FL o 10. 0=2. 000 5.000 | A 5
(6 100X 1000)
Ear 7 U—F 0.140X%10.0 1.400 | m? 1. 40

(18-8-25BB t=10cm)

,79,




